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INSTRUCTIONS

This question paper should be opened only after receiving the instruction from the examination hall invigilator.

This question paper contains 80 questions in Part A (General Knowledge) and 60 questions in Part B (Psychology).
Answer all the questions.

Each correct answer has half mark.

Write the Enrolment No. and SI. No. of the OMR answer sheet at the appropriate place in the front page of the question paper.

The type of question booklet series and the correct answers to the questions (A, B, C or D) should be shaded in the relevant circles
using blue or black ball point pen. The answer sheet without shading the type of question booklet series will not be evaluated.

For each question only one answer is to be chosen and shaded.
For wreng, multiple and improper shading in answer sheets, no marks will be given for that answer.

Ifthere is any printing error, or error in Page No. in the question paper, the same should be brought to the notice of the invigilator
immediately and a new question paper should be obtained before the commencement of written examination.

All the questions are bilingual except language questions (English & Tamil).
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. @5 aensgnemer Gsiay gy saustailiLnerie syPlanigssd QuDD 961e0r Hnés CouasT ()b,
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FLbuBGLONGT LML BI%aled 60 afleids@pLb o aTanast.
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UL UUGS (YEFeh wHmib $0p) alarnssamer aliss emarssg alamnssepd @uen® 6wmflealayb
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PART - A : General Knowledge

1. Who is Greta Thunberg ? :
(A) A Scientist ' (B) A Holywood Actor
(C) A Tennis Player (D) An Environmental Activist for Climate Change
KBy OIS eresTLIGUT Wi ?
A) @G olesepret
B) 26 aprela)” pysi
©) @@ O_dresfleov afgi
D) @@ uGaBlee WIPPSBHSTET HHDIFEGLH® Y TaieT

2. What is INS VIRAAT ? gsgg

(A) Submarine : (B) Warship
(C) Aircraft Carrier (D) Missile
&. GIGH. 6TaV. QINITL. GTGADTG) GTGHTG ?
(A) B appd) sLiL16D (B) Gumis &6
(C) alwomewiid HnmI%) sLiL6» D) groysemenr
3. Match the following :
(a) Ponniyin Selvan (1) Seethalai Sathanar
(b) Manimegalai (1) C. S. Lakshmi
(c) Kuyil Paatu (ii1) Kalki
(d) Sivappu Kazhuthudan Oru Pachai Paravai (iv) Subramanya Bharathi
(A) (i), (@), (iv), (i) (B) (1), (1), (ii1), (iv)
(©) (@), (ib), (iv), (iii) : (D) @), (1), (ii), (iv)
CQurbsgIs
(a) GuneraNufesr Glaeveuss (i) Fssemev Fngsermt
(b) ewfCGosenaev (1)) C.S. evayLh
(c) uwiled um B (i11) &)
(d) Geuliy supssIL_6T @@ LFens Lpeeau (V) FUgeslus LTI
(A) (i), (@), (iv), (i) (B) (), (), (iii), (iv)
(©) @, (ib), (iv), (iii) D) (@), (i), (i), (iv)
4. Who is the President of Ukraine ? g%?g '
(A) Volodymyr Zelenskyy A (B) Vladimir Putin
(C) Boris Yelstin (D) Denys Shmyhal

2 Gengesle &L IWI&S Senevalt wrr ?
(A) Gounevig 18 QlFeveitevd) (B) aevmig 1B Ly1q.657
(C) Gunmiev erevenvie 6ir (D) Q_siresflov Quimbammed
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As on 31% Jan. 2022 which State has installed highest overall renewable energy capacity in India ?

(A) Karnataka (B) Gujarat

(C) Maharashtra (D) Tamil Nadu

31 gawraur 2022 &b HleveugliLig, g mBlevb Hs Csmererere) Hmer GlsmaL
L5IL9855555 eillesB pped Fmjeuliu L He psell b u&SGng ?

(A) sipmL_sLb (B) ogons EEE

(C) osmgmapg gib (D) sblppn®  EE

Laughing is good for health, because it reduces the secretion of stress hormone secreted
by and makes us to relax.

(A) Adrenal gland (B) Thyroid gland  (C) Gastric gland (D) Thymus gland
A 2L yd@ pevews abarafley QML, ssliy apmiGoremer

| SUBS® G®PSS peienln Quichr) Blenevs OlsTa® BEFTDS) .

10.

(A) 9y Mewed &y (B) enggmii(® sy
(C) Fyewsr &y (D) ewsLoev s
. A sudden change in the genetic material of an organism is called
(A) Hybridization (B) Natural Selection
(C) Mutation (D) Mass Selection
@i 2 WflearsGer oyiGlun@gailes Sieblyes gpU@L LLIHDLD GTGsTMY
DLPSSLILIBG DS ,
(A) slpigsLd (B) Qupemss Gsiiay
(©) G wippid (D) ol B3 Gaiiey
. In which of the following plant food is stored in stem ?
(A) Beetroot (B) Carrot (C) Potato (D) Radish
LI65TeU B eUETOIDMIGT 6TSSTOUTLD Feriy.cv 2 ewteney CFLOESSIngG 2
(A) e (B) Gapr_
(C) 2 pemars&lipmIE D) wpeirersiS) %
. Choose the correct pair. ‘ A -
(A) Vitamin A — Rickets (B) Vitamin D — Xerophthalmia
(C) Vitamin B, — Beriberi (D) Vitamin B, — Scurvy
silwnes @eesranw Gsifh0ls®
(A) eeu’L_1hesr A — M$0)sL av (B) e»aur” 1 _1fer D — ECpniigmevtduwim
(C) eweur’L_thleir B, — GuiMGlLi (D) emeu’L_1hleir B, — evsial
ELISA test and WESTERN BLOT test are used to detect disease.
(A) Typhoid (B) AIDS (C) Polio - (D) Cholera
arellem Gangenet wpmib Gleuavl L e Llern. CFngene G Lm@ iy

STL_Mlw LIGTLI(H SIS
(A) eL_o%oLimi(p. (B) erii’ev

(C) @anilerenar aursLd (D) smevgn

A
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11.

12.

13.

14.

15.

16.

Which is wrongly matched ?

(A) Igneous Rock — Lime Stone (B) Intrusive Igneous Rock — Sill
(C) Sedimentary Rock — Sandstone (D) Metamorphic Rock — Diamond
Qeuppled e1g1 saupns QLnwEBusreng) 2 .

(A) Bliunesp — Fesstewrnibry LTeOD (B) sar@myedlis SriLinemp — SHev

(©) uygeyiumenp — wewiHLTOD (D) 2. wpompdlw umenp — ewaugtb
Mangrove Forest is located in district.

(A) Cuddalore (B) Coimbatore (C) Dharmapuri (D) Salem

FGIILY BlovSST(HSe6T AU L SFH6) Lok SIToTS). EEE
(A) sLayri (B) Casmubygari (C) siwyd (D) Gsevib B

Consider the following statements and answer the right option from the given.
Assertion : Braindrain is related to educationally specific selective migration.
Statement (A) : Unemployment and under employment are the reasons for Braindrain.
Statement (B) : Country of origin is gaining potential leaders and talent.
(A) Statements (A) and (B) are wrong (B) Statement (A) true, (B) wrong
(C) Statement (A) wrong, (B) true (D) Statements (A) and (B) are true
Lleieuib aurdGlumiseer swsGe Canamn® Csr@ésiiul Gereraupmyer Ffwrer
unsSwsens Csin6)s®.
FPmI : YBley LLGlLwiEs ereiLg CainsRssIuL L sdal s

Q16 LwiGeun® QBmL_iiLjenL_wsm@ib.
un&wLd (A) : ypfley LeoliOLwiERsE Geusmeeunii i letenio LopmiLb S5&55SCHnHL
CauamevuilcirentoGus sagewitb @ Lb.
aungGuwd (B) : Ippspn® a@isme samaarisamenyb, HpewsredsamantL ClLm&ms).
(A) aung&uib (A) wpmih (B) seumy (B) eung&uib (A) &M (B) seumy

(©) aurs&wib (A) seuny, (B) &M (D) euns&uwid (A) wpmib (B) &M
Which country is the largest produce of platinum in the world ?

(A) India (B) Russia (C) China (D) South Africa
Slerm g erib 2 pLSS I 2 wHCCw BlsLQufu Br® g 2

(A) @QB@wr (B) geywr (C) Georrr (D) Qsetr oyrnINssT
Drilling of oil wells is the hole drilled in the layer of the Earth. E‘%
(A) crust (B) mantle (€) inner core (D) outer core H
L@l Slwarii () c1wTlenTiIs Hewinisen SeLESILIBRSTDaT 2

(A) GuGevni’igev (B) seussSev (C) 2.6 s@afled (D) Geouafl s@mailey
Find out the wrong pair.

(A) Mangal Pandey — Barrackpur (B) Rani Lakshmi Bai — Jhansi

(C) Velunachiyar — Sivagangai . (D) Kattabomman — Nerkattum Sevel
SUDTCT Q)OI FHEETL_15)%.

(A) wmseoLnaTGL. — ungsLyi (B) gressflev gblumis — somesr@

(C) Gouguprs@uwni — Neusnieans (D) &1 Gumbioeit — GBpaL . Hib CFeauch



17. Who discovered the direct sea route to India from Europe ?

(A) Columbus (B) Megallen

(C) Vasco da Gamma (D) Marco-polo

@Crriurelelwig @pPwralng Gy s auflew SETHILIGSSeuT wirt ?
(A) GsmevibLiew (B) Gusevevest

(C) aumevGasrL_smom (D) wmiGsr CunGevr

18. Who emphasized the unity of Hindu-Muslim ? v :
(A) Ramanuja (B) Adi Shankara (C) Kabir (D) Meera Bai

@51, wpeveSd gpmieL@mW WelymiSBwei wri ?
(A) @umweniggr  (B) o8 Fmsgir (C) a9 (D) bgm umis

19. Who was the outstanding leader of Palestine Liberation Organisation (PLO) which was
formed in 1964 ?

(A) Yassar Arafat - (B) Robert Schuman %
(C) Konrad (D) President Nasser [=lc:
1964 6b 2 eungsLiLl L LmewavSer alBsemew @QUISSSHGT LDSSSTET SOGVeIT W ?
(A) wnsFm 9omUS% (B) gmuit’. am®Loest
(C) Csmestgm_ (D) @i pas
20. Who founded the Adi Dravida Mahajana Sabha in 1893 ?
(A) Rettamalai Srinivasan (B) Swamynathar
(C) T. S. S. Rajan (D) V. S. Srinivasasastri
1893 60 BB ITaIL LOSTYET FaOLI GTGHIEGYILD JJEILDLIGHLI 2 (BHeUTSGIIGUT Wit ?
(A) QL eni_toewev Fevfleumgest (B) soumbpnsi
(C) T. S. S. grggeir (D) V. S. uesfleuns smevgi

21. Assertion (A): The President is the Supreme Commander of the Armed forces of India.
Reason (R) : The President is the head of the State and occupies the highest position.

(A) ‘A’ is correct and ‘R’ explains ‘A’ (B) ‘A’ is correct and ‘R’ does not explain ‘A’
(C) “A’is correct and ‘R’ is wrong (D) Both ‘A’ and ‘R’ are wrong
NI . GUWTES ST QBHW PUSLILIHL G SO SOTLS HauIT.

SIIERILD | (GLQWIHS ST L 196 S@eaITsHa b D% 2 wiks Ligal
Blevevenrwitb uSES . :
(A) spay &M, STTGHILD FoDMSGHTEST FWTEST @N6MSSLOMEHLD :
(B) spm) &M, smgewnib FpmissneT Fiwner allerssLoeev %
(C) sapmy &M, STFERILD QUM : =
(D) anpmy, sagewid @Q)oesst(hid Saumi
22. Who introduced the Local Self Government to India in 1882 ?
(A) Lord Curzon  (B) Lord Wellesly ~ (C) Lord Rippon (D) Lord Hasting
2 aitenL & gyevioLiysener 1882 v @BSwraley yBlupsii@®SFweut wi ?
(A) siges gL - (B) QeuevGleveved oy
(C) M oy (D) Gamaevigmien L9gLy
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23. Where is the headquarters of BRICS Organisation located ?

(A) China (B) Brazil (C) Russia (D) South Africa
Liflbev Lo S@EHLOWISLD CTEIG YOLDGEITaTE ?
(A) &ewrrr (B) 19CGr&e (C) pelpwsr (D) Oserermii9fssn
24. The disputes between Central Government and the State Governments are adjudicated by
(A) Parliament (B) High Court (C) President (D) Supreme Court
LogBlw-omhlev SypenBIsBSE @)L _ulevrer Héscsaman 81581 @neud@HLb LoLIL) 615 9
(A) pr_mepLoeTpLD (B) 2 wis@wesipib
©) BYywrss seeaur (D) 2. &sb8)06s1p1D ESE
25. Which of the following State have a common High Court ? [=1¢
(A) Tamil Nadu and Andhra Pradesh (B) Kerala and Telangana
(C) Punjab and Haryana (D) Maharashtra and Gujarat

BLpésmamiib 6155 aBlevmser QLngeunes o wifs) weImsensg ClupmicTeraT 9
(A) sL8p5n® pmib BP9 Cssd (B) Gasgerr wpmyib OB ey miETesrm

(©) uEssns woHmpid apAwnesm (D) wsmgnelyg o wpmis &gors
26. Which Indian has won Nobel Prize in Economics ?

(A) Kailash Satyarthi (B) Mother Teresa

(C) S. Chandra Sekhar (D) Abhijit Banerjee

Cumrgensms@ed Crrued Lfe CQeusin @)@ uwii

(A) sevney sSWTISS) (B) yewremeer Glggsm

(C) erov. 788y Cosii (D) <9203 Guesigd)

27. Which of the following is a direct tax ?
(A) Excise duty (B) Customs duty (C) Income tax (D) Service tax
Speumeuateupmier 618 Criups eufl 2

(A) sevmed auif) (B) smis ouf (C) auLone eul (D) Ggewmeu euf
28. Which district in Tamil Nadu has the highest sex ratio as per 2011 census ?

(A) The Nilgiris (B) Nagapattinam

(C) Thiruchirapalli (D) Thanjavur

2011 sem&ClsBLIdeTLY, SOPHIL 16T 6THS Ll LGS Lmader al@s1b
BFHLONE 2 GiTeTS) '

(A) Bov@i (B) mrsiic 96w
(C) @wsSyniLicired (D) sesanayi
29. 1) Nationalisation of banks was effected in 1969. %
II) ICICI is a Nationalised Bank. :
(A) Only Iis true (B) Only II is true
(C) Both I and II are true (D) Both I and II are false

I) 1969 eSlppg1 eumiSser pm QL ewwréssd G g6 2_6iTeng).
D) ICICI er6irug) gpp CSPwiowiondsil L eumis)

(A) T o ub &M (B) I wi_®b &M

(O) I oppyib 11 @uessiPid &M (D) 1 wopmib 11 @uesr®ib Seumy
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30. Stock Markets in India are regulated by

(A) RBI _ (B) Ministry of Corporate Affairs

(C) SBI (D) SEBI

QBB wneled LIBIG FHSHEET @@@@Du@g;g,jmg 615 2 _

(A) @BHw Maies eumis) (B) Gup Blmicue aNeusngniser 9eLDEFHLD

(C) ovBr_r” Cums oyt @bPwm (D) @BpSw Lsg wHmid Lfeauigseaat eumfuLb
31. On which river Tehri dam was constructed ?

(A) Kosi (B) Krishna (C) Narmada (D) Bhagirathi

Cs&M sjement 615 POl GGnSGCs s L UL (HeTerg) ?

(A) Cxsn& (B) @mpapewsrn (C) mBiens (D) ungp®

32. Which country shares its shortest border with India ?

(A) Nepal (B) Bhutan (C) Afghanistan (D) China
GoPW Flev erevamaew @QBSwn 61hg BTl HLeT LuSNbg ClsTEDS ?
(A) Grumertb (B) yr_metr &
(C) glismestleavgmer (D) Gewrr f;_?gk

33. Where is the National Jute Board headquarter is located ?
(A) Kolkata (B) Mumbai (C) Chennai (D) Delhi
CaPw Fewieh aumMiGS 6T SENEHLOWIHLD GTHIG OLOHSGIGTNS ?
(A) Qsmevsssr  (B) wprbewus (C) Glaeiremnasr (D) @i_cval

34. Which of the following.is true ?

Assertion — A : Tamil Nadu is located in Deccan Plateau.

Reason — R : During cretaceous period this part got separated and formed Gondwanaland.

(A) ‘A’ is correct/ ‘R’ is wrong (B) ‘R’ 1is correct/ ‘A’ is wrong

(C) ‘R’is not related to ‘A’ (D) ‘A’ and ‘R’ are correct

eraumueTeunmley Filineag eTeney ?

Fpm : Buspu Lfyh ereriu@®b sssrest LT Lyiulled SLOLBA®

D|GNLDHGIGTETS) .

srgesid : @UUGHS D6 CLuwev srewsBev LIMbg Olestn Caraaimert
BeliL@g@uileh o meunes @b LIGSWTSLD. '

(A) spmy FAWTETS/STIGSSILD S6UDTTSH] E“%gl

(B) sngessitd FAwinest eumEGNILD /Fapr) SeUDTETS) = :.3

(C) sngesstb gflwnest aNaTdsLd 6LV FnDOIDG

(D) gapmy Lopmyth Hagewitb @)uesst(pb &if)



35. Match the following :

Hill Station State
1) Mussoorie 1) Himachal Pradesh
2) Shimla 1) Kerala
3) Munnar ii1) West Bengal
4) Darjeeling iv) - Uttarakhand
(A) 1, ii, iii, iv (B) 1iv, iii, i, ii
(©) iv, 1, ii, iii (D) iv, iii, ii, 1
ClLInmSSIS -
LOGRGURTLAIL_15156iT LomEleoLb
1) wpGamif 1) @urésinlgGssib EEE
2) @bevr i) Gspgerm ’E‘;@
3) epewrmmy iii) Gpe eumismrerd )
4) L_migdeS)ms 1v) 2 g@psmessr
(A) 1, i, iii, iv (B) 1iv, iii, i, ii
©) iv, i, i, iii (D) iv, iii, ii, 1
36. When white light enters a medium, which colour travels with highest speed ?
(A) Yellow - (B) Red (C) Violet (D) Blue
Cloueranaer gafl g san_sg@eier Cledvayd Gungl, eis Bpib B Cousg By
OlgebaLb
(A) wepaer (B) Peutiy (C) sengm (D) Bevid
37. The instrument used to detect the presence of electric charges in a body is
(A) Microscope (B) Voltmeter (C) Electroscope (D) Ammeter
Clunper @efled Beigiseradr @LiLms ST Pl LUGTLESSUILGL S@Eal
(A) mewrGosnstns) (B) Geumevr” 11 it
(C) Blevevidleiram 1g (D) yobr’ i
38. V=IR

(i) The above formula was given by George Simon Ohm.
(i) In this Formula “V” stands for potential, ‘I’ stands for current and ‘R’ stands for resistance.

(A) Only (i) is correct (B) Only (ii) is correct
(C) Both (i) and (ii) are correct (D) Both (i) and (ii) are incorrect 46
V=IR E]S%é

(1) Gupamplu FwETLITG BT MFLDGT @Lb CTTLICIITED eIl L_g).
(i) Gupamplu swerur’ye ‘V’ eaarug arerpsssamsuyb I’ GTGT LI
WlerGermL L gengujib , ‘R’ ereirLig) 1heiigenL_aiouib @mléaLb.

(A) (1) @b &M (B) (ii) o @b &M

(©) (1) wpayb (ii) &M (D) (1) opmib (i) gMwevev
39. Which nuclear fusion produces energy in the sun ?

(A) hydrogen to sodium (B) lithium to hydrogen

(C) hydrogen to helium (D) hydrogen to iron

61h% 9Ie89IS% [ Q)emamailentey GMlwelleh PO 2. (Feun@eng ?
(A) ewan " gerallalBpg Cemguib (B) 188w mps1 eant” segest
(C) @apsgellednig adellub (D) eant sgeflawis @by
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42.

43.

44.
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Cryogenic propellants used in rockets are at

(A) very high temperature . (B) high temperature

(C) room temperature (D) very low temperature

@ursQsL Bsaflcs LweTLRSSILED HgrCGur Clgafls Quiss Cln@erser
(A) 1hls Bs GauLiBlencouiley @)H&ELD E’%g]

(B) @98s GleuliLplenevuied ()5 @HLd i

(C) wyem QauriLfleneuled @)FSEGLb

(D) iss @eowps Geuliublencvulley @) ELd

The President of India can nominate

(A) 12 members of Lok Sabha - (B) 2 members of Rajya Sabha
(C) 12 members of Rajya Sabha (D) 14 members of Rajya Sabha

GLWIGHS SEeVauTTed BluiLblss L 1LI(BHILICTSET
(A) Govmdseruse 12 o pyinlenisar  (B) grguw sevuse@ 2 2 pililestiger

(C) prsow FaoudE 12 2 pinlamiser (D) prguw seviide 14 2 piiSeiser

Which house of the Parliament is known as Permanent House of the Parliament that never

gets fully dissolved ?

(A) The Lok Sabha (B) The Rajya Sabha

(C) The Ministerial Cabinet (D) The group of Ministers
IBIL_TEBLOGTIDSBIGH 6ThS Deva, BILTE@RLOGTDSDGH BIbsT Sevains PLGEDS) ?
(A) wésarenal (B) woaflevmisenemeu

(C) ymwssFgenel (D) yev&aiser @ p I

What is the time limit to get the information from RTT Act, 2005 ? Elé%é

(A) 20 days (B) 25 days (C) 30 days (D) 35 days

Faaied yPluyb o Meovd FL” L tb 2005 61 LIy SsaUMLT O)LDIISHSTET HT6 GUILDL|
(A) 20 B seir (B) 25 pri&er (C) 30 prwar (D) 35 prseir

The electoral system in India has been adapted from the system followed in the

(A) United Kingdom (B) USSR (C) France (D) China

@BBw Gsised wep & WSTUPPLILELD CSige (LpempE@enL L9esTLIm D)
agpmis Osmerariii_L_g.

(A) @E&evmpbGlev ‘ (B) Gonalwig geywmailed

(C©) Wgneireilev (D) Gewrmadlev
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45. Match the following :
1) Citizenship Act (1) 42" Amendment
2) The Preamble (i) 2004
3) Classical Language-Tamil (iii) 1955
4) The mini Constitution (iv) Jawaharlal Nehru

(A) (), (ib), (iii), (iv) (B) (iid), (iv), (1), (ii)
(C) (i), (iv), (i), (i) (D) (), (iid), (ii), (i)
QuUITBSSS :
1) ¢uyuyfeniod 1”1 _1b (1) 42 eugy uPweveniolié &1 LSS\ KSSHLD
2) (wpsajeng (ii) 2004
3) QabQuom-siip (i) 1955 i
4) G TS weeLoLIL (iv) @eusicvmred Crp s
(A) (1), (iD),(id), (iv) (B) (i), (iv), (i), (ii)
(©) (i), (iv), (i), (i) (D) (v), (iid), (i), (i)
46. Which Act separated Burma from India ?
(A) Government of Indian Act, 1935 (B) 1833 Charter Act
(C) Rowlatt Act (D) Minto-Morley Act
GIHhSEFL L b Limneney @) BSwnalledwmg) LINS55
(A) @b&w <% s 1b 1935 (B) 1833 it wés’ 1 1b
(C) Ggenevr” #1° 1 _1b (D) WerGrLm-1omial) &1t 1b

47. Name the Nayak who inaugurated the kingdom of Ramnad.

(A) Muthu Krishnappa (B) Muthu Vaduganathar
(C) Chokkanatha Nayakkar (D) Vishwanatha
Quriopns Ppprens CSTL_RIDass BTwSST Wi

(A) wpss1 Blpeiyewi i - (B) wds ai@sprsi
(C) Oenssmpns pmusst (D) a9epaumnsi

48. (i) The Mangulam inscription mentions the king Nedunchezhiya Pandian.
(i) The Mangulam inscriptions were depicted in Tamil-Brahmi letters. EE
(A) (i) only correct (B) (i1) only correct ﬁ%ﬁ
(C) Both (i), (ii) are wrong (D) Both (i), (ii) are correct
(1) omsigard sl B Lnewng wer O\B@E5CSAWET LHY o0nBDS).
(i1) wrmigend seble ® shlp-19mhl erpsgissertsd QUIPESILL L aal.
(A) (1) @b &M (B) (ii) or” @b &M
(C) ), (1) Qraw®id seum D) @), (i) Que®d &



49.

50.

-

52.

53,
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Which of the following statement is true ?
(i) In Sangam Age the Kingship was hereditary.
(i1) The King was called “Ko”.

(A) (ii) only (B) (i) only
(C) Both (i) and (i1) (D) None of the above

BLpSTL. FnPMISEHGH GTEIGU 2 GITEHLOWITEIGHG! 2

(i) #B1SSTVSHGO YTFTAEHLD LITLDLIGH JUITECES).
(ii) oyger “Can” e1a7 ewLpSHSLILIL L (T,

(A) (i) o (b (B) (i) o (b

(©) () pmb (i) @)oer(HLd (D) @eupdled e1gia b Qebenecy
Match the following : :

a) St. David Fort (1) Calcutta E¥E

b) St. George Fort (ii) Pondicherry ﬁ%

c¢) St. William Fort (iii) Chennai

d) St. Louis Fort (iv) Cuddalore

(A) (), (i), (i), (1) (B) (v), (iid), (@), (ii)
(©) (), (i), (ii), (1) (D) (i), (iv), (@), (iii)
QurrssIs :

a) yesfle CGralill Cam’enr_ (1) ssSST

b) yefls emigy Camenr_ (1) ey &G

¢) yeflg allevedwb Gemeor  (iii) GlFerenas
d) yefls eyruev Casmeni_ (iv) sLar

(A) @v), (i), (i), (V) (B) (iv), (iid), (1), (i)

(C) (v, (iid), (iD), (i) (D) (i), (v), (), (iii)

Find out which one is not in the Food Quality and Safety Control Agencies ?
(A) FSSAI (B) AGMARK (C) FICCI (D) FPO
LereumpauaTaunfley 615 2 ewiey LHMILD SIS HLILINEG BDieuaTd 9evev
(A) FSSAI (B) AGMARK (C) FICCI (D) FPO
Pernicious anaemia is a deficiency of Vitamin.

(A) Iron (B) Cyanocobalamin

(C) Folic acid (D) Vitamin K

Quiefafluey @Qrss Cememasmw apUBSSHID 2 uNi5555 GDDUTE

(A) @BLoLFss58! (B) swGernGsmimeviLdlesr

(C) %CBunallé 9yhlevid (D) 2. u9igsd5 K

An examplé for decomposers are and E¥E
(A) Bacteria, Fungi (B) Bacteria, Lichens ﬁgﬁ
(C) Fungi, Lichens (D) Algae, Lichens

PG LILIGTEN6US @SS 1(hSHISSTL_(H&H6T LoD MILD

(A) ungieNungsenr, LyEheFSH6T (B) wndie Auwngser, evd6lserser

(C) LYErmes6r, ®6vs0lseTseT (D) oevs1é561, 6evd6lsaTsen
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54. Identify the true statement with reference to noise pollution :
Statement — I : Noise is the unpleasant sound.
Statement — II : Reduces depression and stress.
(A) Statement I only true (B) Statement II only true
(C) Statement I and II are true . (D) Statement I and II are wrong
@6 1on5 GPs Filwuner urs@uses e Hs.
wngGun-1 : @eaflenwowpp @)emsésavmear ged).
ungGwib—11 : wer Gamiay (1b) YWES55 GODERDS).
(A) eung@uwib 1 or” Qb &M B) eurg&wib 11 or” Hib &M
(C) @b 1 woppud I sflwnengy (D) eurd@uwib 1 opmyib 11 SUDTCHIG]

55. Match the following : R 7
Conservation Law Year E&}
1) Project Tiger : a) 1992
i) Project Elephant b) 1999
iii) Sea Turtle Conservation Project c) 2020
iv) Indian Rhino Vision d) 1973
(A)i—-d ii—a ii-b iv-c

(B)i-a ii—-c iii—-d iv-b
(©)i-b ii—-d iii-c iv—a
D) i-c ii-b idi-a iv-d

Cummssis : ;
Conservation Law : Year
1) yellser ungisniiny G i_tb ' » a) 1992
1) wreneser LINGISTLIL S L LD b) 1999
i) &L_6b QYeLoS6T LIMGSTLIL S L LD c) 2020

V) @QBbSw sres_mdmpenisdr urgsmiy b d) 1973
(A) i-d ii—a ii-b iv-c ‘
B)i-a idi-c iii—-d iv-Db

(€©)i-b ii-d ili-c¢ iv-a

(D)i-c di-b ii-a iv-d

56. The name of the new Citizen Safety Mobile app launched by Tamil Nadu Police recently is
(A) Kaavalan (B) Kaaval Uthavi  (C) TNPOL (D) TN POLICE

SLOIPBIE) HTAIC) GIHDWITE) GL9LOSSET LISISTLILISEHTS FLOLISH6D Clgm_misiic
@&5GL& QewaeSulflesr Quwir 9

(A) smeucvest (B) smaueb 2. gall  (C) yerarGuned (D) 1g.e1651GLimeSan

57. In Tamil Nadu, where was underwater Archaeological site Museum established ? %&%
(A) Tranqubar (B) Korkai (C) Musiri (D) Poompuhar )
SLOPFT 196 61IG BBSsuies Creballuch Somid SyBEIST. Qs eniodsL]
Ul pererg ?

(A) somisibumg  (B) Garpers (©) W@y (D) yibysmi



58.

59.

60.

61.
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FASTag at the Toll Gates uses which waves ?
(A) Infra Red Waves (B) Radio Frequency Waves

(C) Ultra Violet Waves (D) Micro Waves

FBIGE FTOULY SN YEDBFIGTOT o LITOVL. L_TE-GV 6IHS YV HHTH6T
2 ICWIRGSLILIH B STDEST ?

(A) @15 Qauliy wsBi (B) Gy Cun gyemeveuflens
(©) ym sa151 VST (D) micvsr Qyemev SHIT
Match the following : ~ -

Country Year of Independence %

i) Sri Lanka a) 1971 [=le

ii) China b) 1948

iii) Bangladesh c) 1949

iv) Pakistan d) 1947
(A) a b c d
(B) b a c d
)b ¢ d a
D) b c a d

QurBSSI%

L 10) &SBP b ClPHD Gu(HL_LD

1) wfevmkism a) 1971

ii) Gewrr b) 1948
iil) umseTTGs ey c) 1949

V) un&evg e d) 1947
(A) a b c d
B) b a c d
O b c d a
D) b c a d

Who is the author of the book ‘Keezhadiyil Ketta Thalaattugal® ?

(A) S. Venkatesan (B) Erode Tamilanban

(C) Vela Ramamoorthy (D) Karthik Subramaniyan
‘19 uiev CaL L grevm Hser ereim mredlest QFMwi wiri 2

(A) &. GloumisGL_ger (B) #Gpn(® sLlLpeiTLicT
(C) Gauov grioepiisH (D) smig®s &1 gLoessiwics
The Vacuum Flask was invented by

(A) Kelvin (B) Antoine Lavoisier

(C) James Dewar (D) Pascal EH#E
Qouppl_g& &HBleveuenis Hevst(HLILg S e e
(A) Glsevallesr (B) gyet10)_miiesr eveumiiedluwit

(C) Gagrbav Peum _ (D) umevse



63.

64.

65.

66.
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62. While going for a ride in merry-go-round you experience an outward pull, this pull is due to
(A) Centripetal Force (B) Centrifugal Force
(C) Electrostatic Force (D) Magnetic Force

GoL Qui eSS sppid Clumipg, priser CQeelGrrsGu Hasuildr @)up
allenseni o ewtiGpiser, @aialensssnear SryemLb

(A) ewww CprdeE aflans (B) ewow adlevd@ allews

(C) Bewov hetraNlwed aflens D) smps alens -
Choose the correct pair : EHE

(i) Atmospheric pressure a. Newton [OHg

(i1) Force b. Pascal
(iii) Mass c. Kilogram/metre?

(iv) Density d. Kilogram

(A) ()b @) c (i) d (iv)a

(B) ()b (i) a (i) d (iv)c

(C) () c (i)d(ii)a (iv)b

(D) ()d (i) c (i) b (iv)a

Fiwnes Qenessrenwd Csin6lsBE5a Lb.
(1) euellewsm_ev opdsd  a. By L e

(i) alevs b. umevsed
(iii) Bleow ' c. GCen&gmb/5L" 1 i
(iv) 9L 59 d. @Cevn&gmid

(A) )b (@i)c (i)d (iv)a

B) ()b ()a (i) d (iv)c

(C) ()¢ (i) d (iii)a (iv) b

D) (1)d (@i)c (i) b (iv) a

Which unit is used to measure the intensity of sound ?

(A) Hertz (B) Light Year (C) Candela (D) Decibel

@allulileir Gleflounangy 61bs YwsT® erall_LILGS DS
(A) Qapicev . (B) gafl gaw®  (C) Caewrgevr (D) QOGO

Boiling point of water is 100°C. Its value is equal to

(A) 273.15K (B) 212°F (C) 100K (D) 200°F EE
Biileir Gan@blenev 100°C. @)bLo@nIn@ & Fioloneg) Bt
(A) 273.15K (B) 212°F (C) 100K (D) 200°F

Which country will host FIFA 2022 World Cup ?

(A) America (B) Qatar (C) Russia (D) Brazil

6165 B ooLlooLm 2022 2 wss Garlieoueamw bL$F60 615 ?
(A) Qwhgsr  (B) sssmi (C) gelpwrm (D) 19GyHed

A
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67.

68.

69.

70.

71.

I) NATO is established for providing mutual defence to member countries from an attack
by an external party.

II) Russia is a member of NATO.
which of the above statements are true ?
(A) Only I (B) Only II
(C) BothIand I (D) Both I and II are not true

1) NATO ereirig e Oeuelsgiierier sré@sedler @Qwbhg 2 miliy /_r,rr@a;@é,@
ugevLy UnGSTLIDSTS Blmeuliii’ L ). '

) peywr NATO a6t 2 mylifeagns 2 6reng. g E]
GG Csr@RSsLILL L B 61bs FmpPm FAlwneig ?
(A) 1 o @b : B) Il oL @b
(C) 1 opmyip 11 (D) I wpmid 11 seupressy
Who is the first Indian to have won Golden Globe Award ?
(A) M.S. Subbulakshmi (B) Latha Mangeshkar
(C) S.P. Balasubramanyam (D) A. R. Rahman
Camev_air CarmL allpens ClUPD (LpSed @BSwiT wri 2
(A) entb. 610V, &FLUILjeVFHLO B) wsr wrIGsevsi
(C) eraw. 19. Limevs L goenfuid (D) er. gyi. gapLomes
What is the expansion of UAV ?
(A) Unarmed Aerial Vehicle (B) Unmanned Aerial Vehicle
(C) Unique Armed Vehicle (D) Unmanned Attack Vehicle
UAV @)eir adlfleundsib ereires 2
(A) yesrgyib® erfiwich eumseTLd (B) yesromesesr(p) erifliicy eunsestid
(C) yesllé 9 mb® eumsesLD (D) oyetsionessi(p) jL_md uUnSEsLD
International Yoga Day is celebrated on
(A) January 30 (B) May 1 (C) June 21 (D) November 19
2 & Quirst Ped 61Bs Hrafley CsmesrmL_ LIRSS ?

(A) gaweuf 30 (B) Guo 1 (C) eg9ar21 (D) meutbui 19

Which hormone is associated with our immune system ? o

(A) Insulin (B) Thymosin (C) Thyroxine (D) Adrenalin
p0g CBmils L &ML L6 gL 6T Osm_iyjenL_w apriGLomer e1g ?
(A) @)ciraallesr (B) e»sGonFesr (C) ewggrgedesr (D) oy Mesedeir
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Assertion : Mitochondria are called ‘Power house of a cell’.
Reason : They produce energy rich ATP molecules.
(A) Assertion correct, Reason wrong
(B) Assertion wrong, Reason correct %
(C) Assertion and Reason both are wrong el
(D) Assertion and Reason both are correct
Fapm) : ol Crrares Muréser  ClFedler PP 2 maser eremy
9 LSS LIRS GTD 6T
SMgewLh : Syemeu lenswippeevs Glupp ATP epevsanmisemar o Houns@Sns).

(A) &pay &M, sngessitd $aimy (B) smmmy soumy, smgesiib &

(©) =pm1, smyewid Que®ib seumy (D) gmpPmy, srgewId @uesm@ib
Match the following :

a) Vitamin C 1) high fat

b) Avocado 2) iron

c¢) Seethaphal 3) fat soluble pigment
d) Carotenoids 4) Guava

- (A) 2,1,3,4 (B) 3,4,2,1 ) 1,4,3,2 D) 4,1,2,3
Clummsgs
a) 2 ufligssa C 1) «%s gere) CsmupLiey
b) <9euGsCGLn 2) @wLbLs 551
c) &sm uptb 3) Qamupiiied seguidsmigu Bmid
d) sCuniieemmiiGser 4) GQasminwum
(A) 2,1,3,4 (B) 3,4,2, 1 ©) 1,4,3,2 (D) 4,1,2,3

74.

75.

A disease which weakens the bones and makes it brittle is .
(A) Paralysis (B) Osteoporosis (C) Fatigue (D) Nerve Impulse

GIQIDLS@T ugIailpss ClFiIg Japep 2@ wismgw HowsE Csme®
Oleebayd Cmrmit

(A) usseunsib (B) a9 CwnGunGunev
(C) semariy (D) poibys gt _eb E]g_rg}
Select the correct option : &=

Statement — I : When vegetables are cooked in water Vitamin — C is lost.

Statement — II : Vitamin — C is water soluble in nature. '

(A) Statement I and II are true (B) Statement I and II are false

(C) Statement I — true, II — false (D) Statement I — false, II — true

Filwmes alen_eowg Czin6ls®).

F@mpmi— 1 : smisplseer pfled geniod@d Cung), o ulidssg — C @(Lp&,&uu@@j_r)g/.
Fpmy— 11 : 2 issgg —C, Blled senguib getenio ClsaesL_gy.

(A) spmy I opmyd 11 &M (B) &pmy 1 opmyid 11 seumy

(C) wmpay 1 &M, 1 seumy (D) &pmy 1 seumy, sapmy 11 &M
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77.

78.

79.

80.
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James Chadwick discovered the particle is

(A) Electron (B) Proton (C) Neutron (D) Positron

Gagibeiv o aflé sam@Lilyss g6 -

(A) erovs gmesr  (B) yGuminer  (C) flyogner (D) wmedgrest
Statement : The reaction that takes place in rusting of Iron is oxidation. g‘%?
Reason : Because iron is converted to its oxide. = "“Z

(A) both Statemént and Reason are correct (B) both Statement and Reason are incorrect
(C) only Statement is correct (D) only Reason is correct

gapmi : @) tbLy QUL s6r SiLIY S50 pevL_ Gl aflener g seilgGaippLd

D4SLD.
smgesid : grbleawafleh @)(BLbL] B6T YSFBSTIS LOADDLILI(BILD.

(A) Fpmy opmiLh smyesib @ues@b &M (B) gmpmi opmith srgenitb @)esa(GILd Seumi
(C) spmy ot R &ifl (D) sngewiib ol BHtb Fifl

Choose the correct acid and its use.

(A) nitric acid — digestion of food (B) sulphuric acid — bafhing soap
(C) vinegar — preserve food materials (D) benzoic acid — detergents
Fflwner blevib oPMILD ST LwesTsemer CsiB0ls®

(A) eopL s oyblevtd — o ewrayL1Qum@meTseler GlFforesib

(B) savyyfs bevid — @Gofwed GerLiy

(C) aflefai — o ewrayls Gum@per G HCUTSTLLD @)(HSS

(D) Quesrgmuisé yblevih — Fevemeu Gy

Which gas is responsible mainly for ‘Taj Mahal’ turning yellow ?

(A) sulphur di oxide (B) ammonia (C) chlorine (D) hydrogen
STHLOQDITGY, LDE5FT FDLOTS LOTPIUSHES ThS U] LpSGIw SMIGSTLOTEDS) ?
(A) oot e YdenF(h (B) <oybCGromesiluwim :
: . BISE
(C) &Garmer (D) emamr” gggeir [D:‘f%
The most commonly used cooking gas contains LPG which means ?
(A) Low Pressure Gas (B) Liquified Petroleum Gas
(C) Leak Proof Gas (D) Low Phosphorus Gas

Qugiours o8& Syeraled LWETLGLD Faniowed aumujaled 2 erer LPG eraLig)
(A) GoODES (WSS My (B) Spauwnssiiu L CQul Guredw eumuy -
(C) sHeuenL_wing eumyy D) @eopis LITaVLIFeV MLy
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82.

83.

84.

85.

86.

87.

88.

89.

90.
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[ PART — B : Psychology |

Choose the appropriate word for the following :
“any building of a past age, regarded as a historically important place”.
(A) Exhibition (B) Laboratory (C) Monument (D) Sanctuary

Choose the correct passive form.

The manager appointed many office assistants.

(A) The manager were appointed many office assistants
(B) Many office assistants appointed the manager

(C) Many office assistants were appointed by the manager
(D) The manager was appointed by office assistants

EHE

Fill in the Blank. ‘ ¥
If your friend always thinks the best will happen, she is
(A) Humorous (B) Optimistic (C) Creative (D) Frank
Choose the correct meaning of the idiom “a couch potato”.
(A) A clever person (B) An important person
(C) An idle person (D) An ideal person
Choose the suitable question tag.
Nobody called, ?
(A) do they (B) didn’t they (C) did they (D) don’t they
Complete the following :
If T had had money,
(A) I would invest in the business (B) I will have deposited in the bank
(C) T'will buy a car (D) I would have donated
Match the following :

a) Beauty I) Adverb

b) Pretty IT) Noun

c¢) Neatly III) Conjunction

d) Unless IV) Adjective
(A)IvIiOnu B) IO IV I I @ourivim @oI11vian
Choose the option which has logical relevance.

I. ‘Fine’ means healthy
‘Fine’ means the amount paid for punishment.
II. In the above sentences, the word ‘Fine’ is the example for ‘Homophone’.

(A) lis false I1 is true ' (B) I and II are correct

(C) 1is correct Il is incorrect (D) I'and I are false -
Fill in the blank. "E]B%

It is our responsibility Sparrows.

(A) to save (B) saving (C) to saving (D) for saving

Fill in the blank with the suitable conjunction.
You cannot go abroad you get the visa.

(A) still (B) until (C) if (D) otherwise



e -19- o A
E‘.l‘:i:_ |
91. Imalewar vewns CFTHODIL_enT FHev_ s
(A) yeuewesd Bwpss Cladismer (B) shens o6 BIDIHLI LI5S USSTT

(C) y6uatt BmpbSesTmes (D) werefld@L LssEmIS6T aubaldsmi
92. ‘GAGE, svFe’ - @Q&QsTwNe @evdsewmid GPllimus Caibols®.

(A) ABSGSOSTL TsH6T (B) @QuiewL_& Genailser

(O) uewys OFmesH6r (D) aleneus Glarensser

93. QWESSTVSMS 2 eTiSGID CBTL_wIsH ST PS5 o
(A) Gpevewevuiled HLOLPSENGHT LIGT UTLPHS ST ’%@i
(B) Qpevencvulleh FLlpdasallehi LIV aUTLPCUTISHET [=0:
(C) Qpeencvufleh HLAPSHNGHT LIGVT QUITLPEDTiISHEHT
(D) Qpevenaudleh &SN EHT LIGVT QUTLHFGSTDITEHET

94. @Quicb sy alBuWleniib Bl o udipet 5L LOGLD- alewL &CEHD allewT JeLoss
(A) Quevieyid alPuleyitb Blestn 2 udi(LpeT eTeval LAIGLD ?
(B) Quévisyb aGullenib Blasip Goditpest ereweu LAGLD 2
(©) @Quévlepb alPulenitd Blestp 2 ufiLpest eTewau LOST 2
(D) Quevlegyd aNPulenid Bt o ulifer eremey LAIGLD ?

95. peTlwMPSe eTeitaib Glamevencvlt IMSa e1(pSS FleoL LiLig)

(A) perp) + wlsed (B) perg) + oypfiseb
(©) petimy + SyBlBe (D) pebimy + wplped
96. sib + 2 Ul ereiLISETE CFigg G1(1pss HevL_&GLb ClFmed
(A) sioguili (B) sbupulli (C) s uili D) supulli

97. ‘@eruBleew s1Gar aubg eriigib LgTLFGL’ -@6ianguiled ‘LgTUgGL’ GIaTLISE
Glumepeir wig ?
(A) Spmer GQummGor (B) Guoevmesr GlLim@mCer
(C©) QuerGuoevmesr GlummGer (D) QumeGar
98. ‘aueaiBs @alwb’ eralaamad ClFmL_i 9
Fpm 1 : ewearQusss Cgm_i
&pm 2 ¢ Quwlgdss Cgmi

(A) @poy 1&f, spmy 2 $eumi (B) wpmy 2 &, sapmy 1 saumy
©) wpm 1,2 5@ (D) siwendgib saini
99. 9erau@pLd 1B iFGlFnpE@mannts C\LmTbSS5I%
1) erafla - 1) ygeuevi
2) &6V o= i) yflgy
3 sppur — i) eppe
4) @oeuevir - iv) o palleri

(A) il iv it i
B) iv il i 1 %
(© i i iv i B
(D) i iv i i
100. ‘5058 (B -e161p SLOPSOFTGORGETeT, Y mFws OlFnamaws Csis
(A) Visa (B) Migration (C) Immigration (D) Passport
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Results of class X of a school are given below. Study the table and answer the questions.

Year 1991 | 1992 1993 | 1994|1995 | 1996

Appeared 198 206 1230 [212 |216 |180 E’%\Ej
3 'i

Passed 1180 197 |210 (203 |194 |178 = :‘z

In which year was the pass out percentage minimum ?

(A) 1991 (B) 1992 (C) 1993 : (D) 1995

@@ verefluiler ugsmb au@LiLy wpyayser EGip Osr1RSSLILL (eiTare.
L L euementenwil) L9 gg Caeralld@ LuSowaldseyLb.

1 (0) 1991 | 1992 | 1993 | 1994 | 1995 | 1996

Ganesiilesmi 198 | 206 | 230 | 212 | 216 | 180

Csig® Quppmrt 180 197 | 210 {203 | 194 | 178

1% %afzﬁ@ Csi1é8) allGsiD G@meuns o dreng ?

(A) 1991 (B) 1992 (C) 1993 (D) 1995
Calculate the speed of the car.
| (360)5
300 + son)
é 240 + @0
§ 55 1 (180)
S ol @
0 ] 2 3 4 5

Time in Hours

(A) 40 km/hour  (B) 50 km/hour (C) 60 km/hour (D) Cannot be determined

. : 5 0
asmﬂ@:r GousLd GTGSTGST v E4E
(360),

3 360 + ;
g (300) =

J 300 ¢+
. (240)

(180
] (120
‘3 1 (0

0 1 4 5

G,ngb le-;'@cb
(A) 40 @Cevrm AL 1_i7/1D6wsA (B) 50 &Gevm 5L 1_ri/1oswsf]
(C) 60 @Covr LBL" 1_ii/1D6wH (D) 8moneslléspyuing)
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Answer the following 2 (103-104) questions based on the bar graph.

The given bar graph shows the population of three cities A, B and C in the years 2010, 2015 and 2020.
QanR&sLILL L UL oL euengliuL_senstl umiss), SpeuLb 2 (103-104) Gaerelsenss
aflenL_ 6T1(LpGI%.

QEr@SsLILL ReTer Ll e auengLiL_g&lev 2010,2015 opmyid 2020 y60e1(h)65 @5s % M6t

A,

103.

104.

B, C epeiiny paymisele wéser Cgnans 6sr@ss UL HeTerg). —

_ i
T 35 36

30 ‘ 30

ABC population (in lakhs)

ABC wasartlsmeans (ol smisaie))

UMY >
LMY

2010 2015 2020

IRN=LR77E

Which of the following cities registered the greatest % variation in the population from
201010 2020 ?

(A) A R ®) B

© C (D) BothAand B

2010 Sis1 2020 aueny 6165 BSISHGT Los&6T GBI 9515 5565510 Coumim’ g 6b
2 GTETS].

A) A (B) B

©) C (D) A wpmib B

In which year is the population of city B exceeding that of city A by 20% ?

(A) 2010 (B) 2015 _—
(C) 2020 (D) Both 2015 and 2020 5%3

5 ey B ps1586T weser Csnams, A psisHer weser Ggnamsamw ailL,
20% 9B &L01% 2 6iTeng) ?

(A) 2010 (B) 2015

(C) 2020 (D) 2015 wopmit 2020 @ues @b
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Answer the following 3'(105-107) questions.

In a school, there were five teachers. P and Q were teaching Sanskrit and Maths. R and Q were
teaching Maths and History. S and P were teaching Hindi and Sanskrit. T and Q were teaching
Geography and Spanish. E

Gpsa_ 3 (105-107) alennssers@ alen_welssayb. [l

weiraflufled S Y@ Mwiiser o_erenasii. P opmytb Q oy @Awiiser suoevsLd LoPMILD HewsiigLd
#&PLSEpmiser. R wppinb Q @Mwiser seflgd wpmitb eugeonm SPGB D IS,
S wppib P y@Awiser aflss wpmid Fwav@wsd splis@priser. T whmibd Q
A ilwiser yedlullwed wpmib cvCuelay spHLIs@pmriser.

105. Who among the following teacher was teaching less than 2 subjects ?

(A) P (B) R

) S (D) There is no such teacher
GIbS BFMNWASET 2 LUML_EISE5eEE GDaIns THSSDmTiser. |

(A) P B) R

© S (D) es ySMw@md @evenev

106. Which of the following pair was teaching both Maths and History ?

(A) QandR (B) Qand S

(C) Pand Q (D) None of these

61bs Qb ASNwiser sexfigid wpmib eugeTy LML RIS PGS DTiser o
(A) Q oppiib R (B) Q opmutp S

(©) P uoppiis Q (D) @B aigrays Gveney

107. P and Q were teaching which subjects ?
(A) Sanskrit and Maths
(B) History and Hindi Eg%
(C) Geography and History e
(D) Spanish and Sanskrit
P wopmib Q 6168 LM_geng sHLISKDmiger 9
(A) me@@gl_b LoPmILh HessflgLb
(B) augenmy oppib eBS
(©) yelludwev opmith eugevmmy
(D) evGuelay wpmib FLev&HSLD
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Refer to the Pie diagram which depicts monthly budget of a family and answer the following

three questions (108-110).
E3E

D A =Food Gl
G A B = Conveyance
15% 25% _ ,

C = Clothing

D = Miscellaneous

20% [ o 18% E = Saving
12% F = House Rent

GOWLSHGET g e OFweyd P L Gagd ST (HLD LIGILIL S LTSS Lb.
ueILILIL Seng Umisgl Lleteuapd epesimy Caeralsend@d (108-110) alent &@5s.
A= o ewmey

B = Guné@eaugsds

C=oemL

D = @sr Glgewayser
E = Ga#hiiy

F = o Qeun_eos

108. If total monthly income of the family is Rs. 3,080/- how much amount is spent on conveyance
per month ?
(A) Rs. 400 (B) Rs. 360 (C) Rs. 370 (D) Rs. 325 %ﬁ
G@OLUSHeT Glonss wng auwpLoneid en. 3,080 erafleh, @@ LLISSHDEG :
Cuind@aursasE ereueuane Glsremas GlFewall LILBS D ?

(A) em. 400 (B) ¢5. 360 (©) ap.370 (D) ¢5. 325
109. How much rent is paid by the family per month ?

(A) Rs. 550 (B) Rs. 462 (C) Rs. 430 (D) Rs. 426

R LISSF DG GOLbULD eTeuaianey afl () eun_ems ClFISHSDE ?

(A) e. 550 (B) 5. 462 (©) ep. 430 (D) es. 426

110. How much amount is spent on clothing per month ?
(A) Rs. 530 (B) Rs. 545 (C) Rs. 580 (D) Rs. 554
R LOTSSHDG YOL_S&15 eTeieueney CFnenss ClFawalll L1 LGOS DG ?

(A) . 530 (B) ¢p. 545 (©) ep. 580 (D) ¢5. 554



111.

112.

113.

114.

115.

24- A

For the following question, various forms of a letter series are given with one term missing
as shown by (?). Choose the missing term out of the given alternatives.

HUA GTZ FSY ERX ?

(A) DWQ (B) DQW (C) WDQ (D) WQD

Setreusid aflernailed, LbCainy er(pdgl C\SMGLILSET 2 citanat. @)Fe a1
GI(LpSISs@an LieTaimib allen_safleallbig Csitg e1(RsHsa b —

HUA GTZ FSY ERX? é%ﬁ

(A) DWQ (B) DQW (C) WDQ (D) WQD

R is the brother of A. S is the sister of P. A is the son of S. How is R related to S ?

(A) Son (B) Brother (C) Uncle (D) Father

R ereiricuir A afleir sGanggi. S erattiieui P ullesr sGsngl. A erestiieui S 6ir Loseit.
R p@b S p@Lb e16d1an 2 pay (e ?

(A) s (B) #Csngyi

(C) 1ompesr D) spms

A watch reads 4.30 of the minute hand points East, in what direction will the hour hand points ?
(A) North (B) North-West (C) South-East (D) North-East

RO @& $1951758)60 wewfl 4.30 s1GSGI, BIOL wper BpssE Crrssuiwmnbsme,
wesflper 615 Havgenws Crrsd) @)msé@Lb

(A) w s B) eu_Guops

(©) Osar@pss (D) eur Slpss

If the code for ‘STABLE’is 1 23 4 5 6 and code for ‘LABOUR’is 5347 8 9, then what
will be the code for ‘BOTTLE’ ?

ESE
(A) 472256 (B)472556 (C) 472265 (D)475526 ,EIE%
Flov GO B 9y Lrent_uied ‘STABLE’ ereitigeir gpluf® 123456 ysaib, ‘LABOUR’
eregait GPlui® 534789 gysad @uinder, ‘BOTTLE’ eratiuger @gplui® erevrar o
(A) 472256 (B)472556 (C) 472265 (D)475526

Raja moves from his house and walks 10 feet towards east, turns right and walks 3 feet.
Again he turns right and walks 14 feet. How far is he from his house ?

(A) 4 feet (B) 5 feet (C) 24 feet (D) 42 feet

gngen et af196SBpG Hips@ Crrs& 10 oy pLpg 96 euevgiymib HpLbd
3 g BLSEDAGH. LoILIg UL HeueHT auegLDLD S(HLOLI 14 19 BL_SSDTcHT. 9jeusH
Qi) 19 SN B S GTRIIGTRY GITLDTS 2 GTGTIGT ?

(A) 4oy (B) 5 =g (©) 24 =119 (D) 42 o9
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116. Match the following :

1) Co-efficient of range
i1) Co-efficient of variation

iii) 32:24
iv) Ratio of 3 m to 200 cm

(A)4,1,2,3

O GEETES
i) afsxs0)a1p

B) 2,3,4,1

il) wmpum” G005 wp

iii) 32: 24

1)4:3
2)3:2

3) 2 x100%
X

4) L__S
L+S
(C) 4,3,1,2 (D) 1,4,3,2
EHE
1)4:3 01l
2) 3:2

3) g><100%
L S -

iv) 3 18 &b 200 G&Lf $@Lb 2 eitar alFsLd 4) T
+

A)4,1,2,3 B) 2,3,4,1

(€) 4,3,1,2 D) 1,4,3,2

117. Construct algebraic equations for the following verbal statement.

118.

Ravi’s father’s age is 5 years more than 4 times of Ravi’s age. His father’s age is 33.

(A) 4x-5=33 (B) 5x +4=33 (C) 4x+5=33 (D) 5x—-4=33

es1eu@std eumiiQlomfle Fmpmid@ ClnmssLones Quipsenfls FLOGTLTE 2 (56uTsES5%.
galuest yL1Lmadest euwg gauller anuBesr 4 LoL_BIGL 6T 5 @98 gal’ L SlenL_LiLig) O-g/,@w.
gaflufesr oriimadlesr euwg) 33 9@ Lb.

(A) 4x-5=33 (B) 5x+4=33 (C) 4x+5=33 (D) 5x—4=33

The triangle with perimeter 12 cm can be

(i) An equilateral triangle
(i) An isosceles triangle
(A) Only (i) is true
(C) (i) and (ii) are true

(B) Only (ii) is true
(D) (i) and (ii) are not true

12 Q&.18 spperayerer (LpsCsmesimiseT LI6T6UBLOTDI 96MLDWIGVMLD.

() @@ FL1L1ES (Lp&CHTEHTLOTS SEHLOUIGVTLD. EEE
(i) @0 QBFLLISGS (LpdCHTETLDTS ELOWIGULD. m

(A) (i) @b &
(©) (1) opmyed (i) &f

(B) (i) o’ @b &M
(D) (i) pmyib (ii) seum

119. The side of a square is 10 cm. If its side is tripled, then by how many times will its perimeter

increase ?

(A) 2 times (B) 4 times

(C) 6 times (D) 3 times

R F51085B 6 L1GsLD 10 CF. 15 YsenienL_w LIGSHLD epeiiyy oL misrE Cung,
- HDDOTQY TSSO LDL_EIS5TS5 PS5 Mb@Ld ?

(A) 2 oL

(B). 4 w_mi@ (C) 6 oL

D) 3 wr_miE



120.

121.

122.

(A) DK

226-

What is the probability of drawing a king or a queen from a deck of 52 cards ?
(A) 2/13 (B) 3/13 (C) 1/13 (D) 8/44

52 8" pser Clanar @@ FU08 s 196m58 @Qurer Sjcews) (3)rres
CsibelsHULSHaHTeT HlSpSSE0] 6T6HTeT 2

(A) 2/13 (B) 3/13 (C), 1/13 (D) 8/44

The following question consists of two sets of figures. Figure A, B, C, D constitute the
problem set, figure 1, 2, 3, 4 constitute the answer set. There is relationship between A and B.
Establish a relationship between C and D by selecting suitable figure from the answer set.

oy | de—= L
A B C D 1 2 3 4 mem
A) 1 B) 2 (€) 3 (D) 4 E’?%i

Lesraumid Caeraduiley (Q)ressi(h) aISLOTeT UEHILIL BIS6T 2_6TenesT. auengLIL Biser A, B,
C, D eresruet Caeralld@gslu L miser. euegLi_miser 1,2, 3,4 ereriies WSV,
uL mser A wppib B allng Qe Cu @@ Gsriy 2 érers. CQsrpssii i
ClerGLIISBES QLTmSsLIeT LB Csibbls®S$s C wpmid D ader @ent_Gus
2 eiren Q)BML_iiewLs Blmiaieyib.

Y | TN L
O ERIN

A B C D 1 2 3 4
A1 (B) 2 © 3 (D) 4

Which letter will be placed at the question mark (?) to complete the pattern ?

(A) DK (B) DW (C) DL (D) DE

Gsdralg@pil L @)L s s GI(LPSGISHEET MUSSTV (QbS LIL S Blemey

OFiw wprguyth

&

(B) DW (C) bL (D) DE



—
&
123.

124.

125.

27- A

According to the given diagram which one of the following statements is true ?

/]

\ ——> Philosophers
Historians '

(A) All historians are magicians

(B) Some magicians are philosophers as well as historians H4E
(C) All historians are either philosophers or magicians %
(D) Some historians are philosophers

Magicians

QsTRSSLILIL L. uTLIL SGT elpevLd SLpSeTRGTen 615HF YMsens 2 aEenin ?

/|

\ —1—> sssI0UTH)
augeIHDTERMwii

(A) ereveur eugerDPIFMWEELD LBFFTeuTH g6t

(B) 9o i@ reun@ser $s5100THWNSLD, UFTHDTRNUTISGLD 2 GTeTest i

(©) er6bevr eugeaPLTRMWHLD RSTN FdHGIueuTHWTSCour 9evevg) LopbF TeuTH i rsGeur
2 GiTemeyIIT

(D) 8o eugeonppr@Mwiser $55160un% e

LS reund)

If A is to the South of B and C is to the East of B, in which direction is A with respect to C ?
(A) North-East (B) North-West (C) South-East (D) South-West

A ereirigy) B & @gg)asng.mlw, C e-rszm_lg,/ B @ Slpssrsayb @@/j,g,n@v Ce
Cunmigseaueny A 6166 Beansulley 2 6Terg)

(A) auL_&ps@ (B) au_Guns (©) Gzerr Fps@ (D) CseGop@

Choose the Venn diagram that depicts the correct relationship among the three groups.
Dogs, Pets, Cats

"© By = €I ®

apeitny @updsala_Gu sflwuner 2 poes NSsNE@GD Qe auILL Sa5s
CZIAVIOL LIS
Biis6T, GFevevliIgmenilser, Lyenarser

(A) (B) @) © OOQ D)
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126. Find the number of triangles in the figure below.

A

(A) 10 (B) 12 ©) 13 (D) 14

SLp&ngd LIL_$560 615Fmast (LpdCaHTessBISET 2 cirerest.

AR

(A) 10 B) 12 (©) 13 (D) 14

127. Which of the diagram represent the statements ?
— Some musicians are teachers
— Some teachers are players, but

— No musician is a player.

) @ ®| D] ©lOQ| o2

LeireupLd LIL BV 615 ClsTBHSSLILL (Hear eundSuEisaaer @/_15)&@@@/ 9
—- fev QevFwenipLILITeTiS6T G Mlwiser
- 8o YR Mwnser allewerwm’_®) afgiser, gy eurey,

— 61hg @)eFweLILITeTiSEELD alenernl B afgiser Qe

(A)@ ®»l D! ©lO0| o[z

128. Check the odd one out.

1, 8, 65, 64 v
A1 B) 8 (C) 65 (D) 64
SNGFFEGLD eTeTenaTt 6T(hds 61(LpSIS5. Eﬁ

1, 8, 65, 64 Dlg

(A) 1 (B) 8 (C) 65 (D) 64

129. Ramu ranks seventh from the top and twenty sixth from the bottom of a class. How many
students are there in a class ?

(A) 34 (B) 32 (©) 31 (D) 33

RG UGG LGt L 19 wedled gy Coedlishg) erpreusy QL sesub SLAHHS
QLSS Yypreoug @)L sesujd CUDDIGTETT. UEGLIID CTHESST LOTENTTHET
2_GiTaTeu.

(A) 34 (B) 32 (C) 31 (D) 33



Eﬁ; -29-

130. Find the missing character from the given alternatives.

12 21 9 10 ?

(A) -21 (B) 12 (C) 32 (D) 22

ereupLd eresasaflcy Cserals@muil L 6160 618 6T6oILY Hevsr_PlieyLb ?

16 12 21 9 10 ?

(A) 21 B) 12 ©) 32 D) 22
131. Find the odd word.
(A) Arrow (B) Sword (C) Knife (D) Axe
SNSB(5EGLD uriGenganiids HasT(hLilg.
(A) by (B) eumeir ©) 559 (D) GCsmi_m
132. Arrange the words in meaningful sequence.
1. Weaving 2. Cotton 3. Cloth 4. Thread
(A) 2,4,1,3 (B) 2,4,3,1 © 4,2,1,3 (D) 3,1,4,2
UGS HDGT TGS LpeiTar auflenauley 9H)Esab
1. Glpsay 2. LUBSS 3. ayewf] 4. mred
(A) 2,4,1,3 (B) 2,4,3,1 ©) 4,2,1,3 (D) 3,1,4,2

133. There are five different houses A to E, in a row, A is to the right of B and E is to the left of
C and right of A, B is to the right of D. Which of the house is in the middle ?
A) A (B) B ©C D) D
A s E aueng ey euflenguiled @ong af®p)ser o drerer. A e16i1Lig) B 61 aucu@ayiibd, E
erasrigy C air @)1_Hevib, A aflelr euevGlauiib o _eiteng). B ereirig D 61 aucvgled .o_msﬂg,/
61565 af(® BHaND 2 6Tang ? FEE
(A) A (B) B ©C (D) D BEI%%;

134. In a class of 45 students, a boy is ranked 20™ when two boys joined, his rank dropped by
one. What is his new rank from the end ?
(A) 25" (B) 26" (C) 27 (D) 28"‘
45 Lomesseuiseir Ly @b @Gl ep Fmyeustt 206ug Cumid ClupmyerenTes. @)ress(h
Fmyeuriser CaihgCLng euis s auflens @6 G®mhgIeTeng). senL_Fulled @)Hba
Qg LUSw soeudlens cresiesr ?
(A) 25 (B) 26" (C) 27" (D) 28" .
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135. Among 5 weight lifters P, Q, R, S and T, Q lifts more weight than P, but lifts less weight than

T. Two of them can lift weight less than P, S does not lift minimum amount of weight. Who
among them lifts the maximum weight ?

AT (B) R ©Q D) S

5 ueangns@ueuisaled (P, Q, R, S wmmib T) Q wyeuri P g ol 8s e1ev_eow
&18&Swmi. yerrev, T @ ol Gewpainear eienL_eow G1s@&S . geuisefey
Qweuit P g il @enphs eren_emw &ss (Lpiguib. S G@DESLILF cTenL_eni
Snssaldee. @euisailed, wit HyFSLLF cienL_ow HESGEDAT ?

@&T ®R ©Q D) S E%g‘i
=
136. If 80 is added to 80% of a number gives the same number. What is that number ?
(A) 500 (B) 400 (C) 800 (D) 600
o erestewtlai 80% 2.1_6i1 80 @9d gnl’ MLbCLINGy 9GS cT60T DenL_EEMSI. SYbS GTHT GT6HTaT ?
(A) 500 (B) 400 (C) 800 (D) 600

137. The next term in the sequence
15,17, 20, 22, 25,... is

(A) 28 (B) 29 (C) 27 (D) 26
15,17, 20, 22, 25,... ereiip Glsm_Mesr o(RSS 2 miLiy
(A) 28 (B) 29 (C) 27 (D) 26

138. Kumaravel has paid simple interest on a certain sum for 2 years at 10% per annum is ¥ 750,
then the sum is
(A) 3,650 (B) ¥ 3,750 (C) X 3,450 (D) X 37,750
GLorGaied @@ GBI L Csnenss 10% ey o559 2 gy ar@ser sL058)
R 750 saflou’ quins QeaysSetned os et o5 Csreans 94 (&Lb.
(A) X 3,650 (B) ¥ 3,750 (C) X 3,450 (D) X 37,750

139. 45 planes were produced in 5 days by a company. How many planes will be produced in 18 days ?
(A) 125 (B) 324 (C) 162 (D) 115
REG UTTH 2 PUSH CFwud Blmieuesid 45 aloreriseer 5 pr_sefled 2 HLISS)
OFiiBwg eraflev, ypBlmeued 18 prlsefled 2 HLSH Cauyb aNoresiseaier
GTGUSTGES % e GTGS TGO 9
(A) 125 _ (B) 324 (C) 162 (D) 115
ESE ’

140. I. Every rational number is a real numbers. s

II. Every real number is an irrational number.

(A) Iis correct (B) II is correct

(C) both I and II are correct (D) both I and II are incorrect

L. g6tleurs aNBspms erevsassytd GLouiGlwess.

II. @&iGleunp QuuiCwenesd aVRSLpDT 616w

(A) 1 eretrigy & (B) I eremiagy &M

(C) I wpmb 11 @Quaw@®id & (D) 1 wopmyib 11 @) oessr(id Saumy



SUB-INSPECTOR OF POLICE-2022

OPEN

WRITTEN EXAMINATION - FINAL ANSWER KEY

QUESTION BOOKLET SERIES - A

Q. No. | ANSWER | Q. No. | ANSWER | Q. No. | ANSWER
1 D 26 D 51 C
2 B/C 27 C 52 B
3 A 28 A 53 |A/B/C
4 A 29 A 54 A
5 D 30 D 55 A
6 A 31 D 56 B
7 C 32 C 57 D
8 C 33 A 58 B
9 C 34 C/D 59 D
10 B 35 C 60 B
11 A 36 B 61 C
12 A 37 C 62 B
13 B 38 A 63 B
14 D 39 C 64 D
15 A 40 D 65 B
16 D 41 C 66 B
17 C 42 B 67 A
18 C 43 C 68 D
19 A 44 A 69 B
20 A 45 C 70 C
21 A 46 A 71 B
22 C 47 A 72 D
23 A 48 D 73 D
24 D 49 C 74 B
25 C 50 B 75 A




Q. No. | ANSWER | Q. No. | ANSWER | Q. No. | ANSWER
76 C 101 D 126 B
77 A 102 C 127 D
78 C 103 A 128 A/C
79 A 104 C 129 B
80 B 105 D 130 D
81 C 106 A 131 A
82 C 107 A 132 A
83 B 108 C 133 A
84 C 109 B 134 C
85 C 110 D 135 A
86 D 111 B 136 B
87 B 112 A 137 C
88 C 113 D 138 B
89 A 114 A 139 C
90 B 115 B 140 A
91 C 116 C
92 B 117 C
93 A 118 C
94 A 119 D
95 B 120 A
96 B 121 D
97 B 122 B
98 B 123 D
99 C 124 D
100 D 125 B
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